POWER
WHEELS

by Fisher-Price*

Camp BARBIE"

Model Number: 74780

We’ve Made a Change!

Please identify and discard the seven #8 x /2" (blunt) screws and
four #8 x "/s" (pointed) screws found in the small parts bag enclosed
with your vehicle. We've made a change to the assembly of your
vehicle and use of these screws is no longer required. The screws
are pictured below at actual size to help you identify them. Please
remember to keep small parts, such as screws, out of children’s
reach.

Vs

{ oo I

#8 x /2" (blunt) Screw #8 x "¢" (pointed) Screw

SHOWN ACTUAL SIZE

\-

All of the hardware you need to assemble your vehicle is included.
Please follow the Assembly Instructions in the Owner’s Manual to
assemble your vehicle.

J

Thank you for choosing Power Wheels® by Fisher-Price. For further
information regarding safety, service or assembly of your vehicle,
please refer to your Owner’s Manual or call Power Wheels
Consumer Affairs toll-free at 1-800-348-0751.

Printed in the U.S.A.
©1998 Fisher-Price, Inc., a subsidiary of Mattel, Inc., East Aurora, New York 14052 74780 1 74780-0928



